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iceSkater. leftLeg turn forward 0.25 revolutions
move_dist set value to ( iceSkater distance to cone )
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iceSkater point at distance to circle

iceSkater set point of view to
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iceSkater point at circle
iceSkater move forward 3 meters
If ( ( iceSkater distance to circle ) <1 )
iceSkater move down 10 meters
iceSkater play sound world. splash2 (?:??)
Else

iceSkater set pose iceSkater. pose2
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Else
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iceSkater point at circle
iceSkater move forward 3 meters
If ( both ( ( iceSkater distance to circle ) <1 ) and ( circle . color
= PP
iceSkater move down 10 meters
iceSkater play sound world. splash2 (?:7?)
Else

iceSkater set pose iceSkater. pose2
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TS

5-4-2 Alice ¥ K i # i i i+
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B iEgr A
- BEF YL R
B gt v A - B g
Mook (&% Fiodes ) 250 (R48)
g4 (¢ 7 Bingo)
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FAREES o
FELER- BHFA
N HE
1. 247 BR&ELHA4-ER 25 1 - 5 passwd (#E 3] & number ) * 12 5%
WAL ¥ - A user_num (Hc® 7] number) * r1R% € % K HendcF o

2. #— B#cF (68)7% » passwd ¥ 175 45
(1) #-passwd %% » 3 425 B 4.7

(Do hing
e |

(2) 17 #eF oy » SEHART > 468 5 »

3. B Rz ﬁﬁl?l »— B¥cF (% world # @ ¢rask user for a number &
#i)
(D)#-user_num ¥ &5 » TN FHY HF - Fin) » TR TE
(2)B:E 4 i % chworld 4 2
(3)ELE S 2 F 3w ¢ 7 functions
(4)a. #-ask user # 4|7 srask user for a number # » I 2 %iE% 7

I B~ % user_num set value to {72

2

TS

properties [methods [functions “[123] passwa = 1 |, [ 122 user_num|= 1

ask user

- ask user for a number

“-ask user for yes or no

passwd set value to 68 — more...

 user_num —  set value to |2 — | more

" ask user for a number

“ ask user for a string

b, F#EF4H#T3F 5 (Enter a Number:)

-3
a. 1= h R R
#-1f / Else » Hfr o 2 N MY ¥ 2 (T8
b, iz K ES B
#-1f / Else » 345 & 3 /g /247 hElse R




I true
° (Do Nothing

Else

(Do Nofmng‘ ‘

“Doin order| | Do together §§§Luup “While
c. RS KRERSH

5. WA EH gyt ((R* Faiged ) 320 (%48))
(D#F & (BiREE O
1. BEE 4 AR F ¢ chworld
2. B-E 4 330 % <0 functions

3. #-math#f % ¥ e (a==b) H#H 2 T F N ShifEw? > T BN [f &
true

A WER YL EEAL 2 L EE AL

Do = (M BEH = =) R T

(DERT=>EFH~ (Y F frehiged)
# % user_ numégﬂ ’Hg]awra PRI D 2 AR R

(3% T+ >:FE A (1 meter)
Fa passwdé% 3 b R HET  E B ] R

6. AN K HE RS (67 F el ) A% (R48))

P E SRS R O SN b R 2 e R N R
= o 4o T RN

Ef | user_num — == passwd

(Do Nothing

‘ user_num — > passwd )
(Do Nothing

© Eise

o (Do Nothing

T. %BEESHEN DS TR
a. &3 (¥ 7 Bingo)
% print » B3 e If T el R




E||f 5:5 user_num - == passwd

(Do Ng
Ltontstrng.. )

B oot v

=l - user_num — = passwd

|00 Nothing
Else
(Do Nothing \\

‘Doin order| Do together IffElse |Loop |While For allin order | For all together

*% T A B B4 Bingo!!

== passwd

B ~ user_num

 Hse
b, &2dt (= +7)
#Fhoprint PEI P K If T efgst ®H o R T I EenF P L Too Big!!

c. A (x/]7)
# % print 3.3 p K Else T e B3 0 K 27 enF B L Too
Small!!
8. R A RN AT
world.my first method ( )
passwd = 1 , user_num = 1

P}

passwd set value to 68
user_num set value to ( ask user for a number question = Enter

a Number: )
If ( user_num == passwd )
print Bingo!!
Else
If ( user_num > passwd )
print Too Big!!
Else
print Too Small!!
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L5l § g #:4

6-2 st £ A7 B HE
WP A B A J-,E"__

6-2-1 irrk % LT B gt
(e G| 3 42 a”/}\—%z P A E A w e £ 4 TFI—L’E F iR ‘PF'TVE Py A
IFBT %A p;@/a /}‘Jl yelr 'ﬁ"ﬁ"mﬁi‘\‘ °

AL
T RO Rk L R U SR R g > ol L

e iTyrA
Wﬁﬁ%ﬁﬁﬁﬁﬁﬁﬁ;mﬁnﬂw%ﬁ#ﬁﬁﬁbﬁgwmﬁﬁﬁ@ﬁg
BOEIRA 0 E A ied BIA QA P T A anid S Are FEenle P 2Rl
w4 Bl (T o
gL fmmT 280!
1. BRI F T B 0F (Hring: i) :
i rkE AT (e Hede 0. 08 ]
,H/J\j‘ +%ew (o wm b 0. 08 B)
ok g s ds 0. 08 B
kg 2urew (oo dds 008 B)
2. WikfiMe B 1.5 ot

S

A )
1. 22k HGE PRS2
# % do together = H.it » 2N %iE

“[<|Do together
[Da Nothing

B

\
\

‘Do in order (( Do together ) fElse |‘Loop| :While | For allin order
9. T B T 7 end T iE
(1) % #rivds (T chig B 34 7 T




“[=1Do together
©  :ElDoin order
Do Nothing

I

(Do in order) [ Do together “IfElse/ | Loop ' While

(D igrkg e n 1.5 =8

a. # 1ceSkater # ¢ ehmove = ## % I Do together %

E T 3
order %1
create new method | “=IDo together

“ iceSkater turn

Do Nothing

: iceSkater move

“ iceSkater | roll

b. MEFRERT R AP THH 1520

3. M BHrInds (Tenw 3E 4 R (T
(D) ik = %re (846 0. 08 1)
a. BREESF B HOWAFS R DRD G OHHER S
2L:% rightleg + 4~ 1%
# % rightleg e turn * /2 2 do in order ‘.‘%ﬁv‘
% % turn forward 0. 08 B]

/0T

£ (2)(3)(A)FE B sk A ik e (1) omk R R R
(2)i /J\‘QJ griew (eoa fids 0,08 @)

3w /J\—‘*‘ = e (S HE 0,08 B

4 /J\‘*‘ =Hrew (o 0.08 B)

“[EIDo together
[=IDo in order
iceSkater.rightLeg turn forward — 0.08 revolutions more...

iceSkater.rightLeg turn backward = 0.08 revolutions more...
iceSkater.leftLeg turn forward = 0.08 revolutions more...

iceSkater leftLeg turn bhackward = 0,08 revolutions More...

. iceSkater — move forward — 1.5 maters more...

4. R

5. 13k
F4dp 4 Aot ehduration 3K Lk FEH TR TR
(7 Pﬁﬂﬁzﬁ" B A BR TR ERETIR)
6. % N4
world.my first method ( )

f?r‘ Do 1n




No variables
Do together
Do in order

iceSkater. rightLeg turn forward 0. 08
revolutions duration = 1 second

iceSkater. rightLeg turn backward 0. 08
revolutions duration = 0.5 seconds

iceSkater. leftLeg turn forward 0. 08
revolutions duration = 1 second

iceSkater. leftLeg turn backward 0. 08
revolutions duration = 0.5 seconds

iceSkater move forward 1.5 meters duration = 3 seconds

6-2-2 4t P EAF R (HERA)
$ Tk
FHHF T ES K
ik e B iR R AR

AN E
|, #AZN $iEF T dLoop * Hdr b PIAEN B DY - il

iceSkater.NghtLeg — turn forward — 0.08 revolutions duration =1 second more...
iceSkaterrightLeg — turn backward — 0,08 revolutions duration =0.5 seconds more...
turn forward = 0.08 revolutions dwration =1 second more...

turn backward 0.08 revalutions duration =0.5 seconds more...

1.5 meters duration =3 seconds more...

‘Do inorder| Do together f}lfJ‘EIsefEWhile “For allin order For alltogether | Wait | print | [

2. 3% T Loop $HEHRF 3=

3. M URH W B izt E A (% % do toghther %1 ) # » 2 Loop %1

EE;EILuup Jtimes times | show complicated version |

[r=———
STy
icaEkat,
icaSkai,

icaSkai,

iceSkater.rightLeg turn forward — 0.08 revolutions
. iceSkater.rightLey — turn backward — 0.08 revolutions

iceSkater.leftLeg turn forward — 0.08 revolutions d

4., == RN AT




world.my first method ( )
No variables

Loop 3 times times
Do together
Do in order

iceSkater. rightLeg turn forward 0. 08
revolutions duration = 1 second

iceSkater. rightLeg turn backward 0. 08
revolutions duration = 0.5 seconds

iceSkater. leftLeg turn forward 0. 08
revolutions duration = 1 second

iceSkater. leftLeg turn backward 0. 08
revolutions duration = 0.5 seconds

iceSkater move forward 1.5 meters duration = 3

seconds

6-2-3 s EAF R R A)

Am N fg P o AT I N E AR ‘*fﬁ’ i FleB 478 % Bl £ 47
Fork et #ico LB A F W /J\’*“* B T "F'gﬂe;fp ;]Iﬁp/ﬁﬂ;|m{§:;¢yﬁ 2
W BHRAGTERNEY ‘J’ﬁé? AR EA AT AR EEES ) TP R
PO AR SRR A N E AT R o PUA R Ao e AR MR AL 2 A gk (T
sz e g3t Rt Loop #H#-¢ - 3 — 1 show complicated version éhi%de » BhiE %
FlaisTrv Byt o

ﬁi,ﬁwikwm—fﬁﬁﬁiﬁﬁﬁﬁiﬁﬁﬂ’&@ AP o R R R
EAASHER T O a FRR AP F S > T R LEAF S E R E
iﬁﬁﬁ’iéﬁwiﬂ’iﬁﬁﬁ%d£%E0%%%ﬁ’4%ﬁ—4Y?ﬁ1’
EF2(H&BF3erez 3) ik mwd 01 fEI2 50 - 52 EHE 3

N~

=T o©

sets

i 5 s%x & (simple version)
;;ELuup Jtimes —  times

45 fes< & (complicated version)

C stEmEm iﬁt (i (&

EILuup @lndex from l] up to (but not including) 3 times incrementing by 1




BFOAPUHF I NI 0 kALK ANTE T R F PR
A E AR G LR A R

1 #ededs s 0 4p L ¥ index @ &7 - B3N £AF 47 7€ e -
ByricRd o T EAFSHER TP KR -

2. Fl¥rit ¥ g index AF ol 30 FAARE . MREFEAFBHEN PAESFE
Bk PlErEAT S U e iRt A e

3. FREFR- I EAFFHY fe A 18 0 I § M B s index 4 |

A, BrE|h Fr 2 MR T R (5 RS

Index %€ By OGREAA{H)

AR ASIEHY
TR

\ 4

Index 270 1(EHME)

EREERERIY
FEEA

AR
BT - H A

W ITEYrA ©
TARGEULTHE (@ 0 # B2 (<3) R4cim 1> £ §E435)
ik Step”
ok FLd B w0 index &
i kE W st R B

RN A




1. 2% show complicated version %4z - fx* 47 fe ik & ehE 47 S Hf
EEEELuup ~[123]index from 0 — upto (but not including) 3 times —  incrementing by 1
2. == (i Step” ) ehdp £ Aot
(1) BEE$ 2 % e iceSkater 4 &
(2) BLEP B F T hsay i3
(3) #-say * 24 % 3 Loop #25% BB P % —

|
—

E
o

—_

“ iceSkater | resize

:iceSkater say

eSkater  think

“FlLoop E;E@index from 0~ upto

what
H Heno
Goodbye rightLeg
\
other... J}ightLeg

- iceSkater | play sound

(4) t# other i 7 e Enter a string 4% ¥ > ﬁe%] ~ Step
Enter a siring. g|
Enter a string:

- >

(5) % & 4o iy £ feit

EEEE|lep ;;;@index from 0 up to (but not includingy 3 times

iceSkater —  say Step —  more... )

§§§E|Dotngether
3. == (i?z’k‘ﬁf 1B e index B ) iy 4 At
(1) # % iceSkater # i* msay 2232 Loop #2758 RH.eNE - (FinE > T ix
&3k #_iceSkater & @it (4 : ZZ7)
(2) #-Loop ##: index % ﬁt;qr BE - Al b Bk 777

;;ElLuupmm 0 = upto{but noti

iceSkater Stﬁp . more...

iceSkater say LLZf oo
_;_
“[=IDo together

PR @ I ZZ7 XX G NI SR Flpt @ E Bk 777 0 R T
A X nFAAE T B oo index RBP G [123]R5 0 472 5 A
m%ﬁi:’ m” 77277 mEF B A ,&s(strlng)’%’iﬁ 2 index % #cP i\ 777>
Bl L 7 TR A e g o B index ®ficenp B F 8 AR 0 A
Py i * world 4~ # ¥ sh(what) as a string & #ick a2 o

a.  # % world # © (what) as a string |3 #(function)2 Loop *
% A s P o BN 777 o F A d-what ERETLE - B (40

camera )

G

world's details 3
Loop ;g;@index from 0 = upto {but not inclu

iceSkater say Step OTE...

! properties I methods Ifunctions
=| string

“ a joined with b

- iceSKater

" what  as a string




I

b. # % Loop Hichindex ¥ #cie % = (Fehiz ¥ b o Pt what

;;E|Loop frl:lm 1] up to (but not including)

- iceSkater s, Step More...

iceSkater

C. mALeT gy L gt

EELuup [E] index from 0 up to (hut not including) 3 times i

iceSkater —  say Step — more...

i iceSkater —  say index —  as a string e )

Bt fFacit ¢ o index % #cY YT ihytaiciE 0 € L5 what| as a
string Sn#ck-BcE it L F P Al 0 L #EE R HF P Ld iceSkater b
say & i Wik F Rk o

4, PRSIk
FE A B A R A BT X A AR
S TR L e L B R B B H AT B e (7 5N g

*

o

Ny

/

ENC R g7 i Ay
world.my first method ( )
No variables
Loop index from 0 up to (but not including) 3 times incrementing by

iceSkater say Step
iceSkater say ( index as a string )
Do together

Do in order

iceSkater. rightlLeg turn forward 0. 08
revolutions duration = 1 second

iceSkater. rightLeg turn backward 0. 08
revolutions duration = 0.5 seconds

iceSkater. leftLeg turn forward 0. 08
revolutions duration = 1 second

iceSkater. leftLeg turn backward 0. 08
revolutions duration = 0.5 seconds

iceSkater move forward 1.5 meters duration = 3 seconds




F2UHEE
FYAGhind 2 RHORE B A Rk E BT BRI 4T BTk -

TR A
(§ COfFrkg 22 $4FBER) 302 2 L pF) EAFRET LT 8 it
kg e R 1D 2% et R

S
&
IS

b

Ny
. de6-2-1 2424037 > TR 4 Biod = 448

2. R AT LT B AT A
F5d 6-2-1 HmAp 2 A deT AN P R

3. AFFAED v icd = bde
# % iceSkater ripoint at = 2 T BN BB

* iceSkater orient to =
: ; iceSkater —  pointat cone —  maore..

eSkater turn to face

- iceSkater | point at

eSkater set point of view to

“[=|Do together
:[=IDo in order

 iceSkater.rightLey — turn forward

4. % while €41 %4
(1) 32N %EET > yhile > B2 % - TN BT

iceSkater point at cone more...
:[EIDo together [ While|
i /Do in order

? iceSkater.righ

(2] turn forward 0.08 revolutions

B iceSkater_rightLeg turn backward 0.08 revolutions

i iceSkater.leftLey forward = 0.08 revolutions |

“Doin order| Do together| " IfElse Loop “For all in order -




(2) XAEMFE L true (T§ 5 ERERGFEFEE aed)

(3) - CFrkf m Fd izt H6) % 1 while S~

i iceSkater point at cone more...

While true
Do together
“[=IDo in order

ceSkater.rightLeg turn forward 0.08 revolutions duration =1 second More...
ceSkater.rightLeg turn bhackward 0.08 revalutions duration =0.5 seconds more...
ceSkater.leftLeg turn forward 0.08 revalutions duration =1 second More...

iceSkater.leftLeg turn backward -~ 0.08 revolutions duration =0.5 seconds more...

- iceSkater move forward 1.5 meters duration =3 seconds more...

5. % Zwhile A4 47 chif i+
(1) # % world 4  functions T 1 (M A& X adb) T /A~ % ¢ » B yhile
fsehitruer ¥R ®a s 1% b3 2

“ iceSkater — pointat cone —  more..

“[=Do in order
i : iceSkater.rightLeg —  tum f

(2) :}& n jceSkater 4 # 2 dlstance to GBI AN TP O BB REE SN
] > ¥ 3% 7P % object & cone

R R 3N A AT

eSkater point at cone More...

iceSKater distance to cone =2

Do in order

i |ceSkater rightLeg turn forward 0,08 revolutions duration =1 second More...

ceSkater.rightLeg turn backward 0.08 revolutions duration =05 seconds MOore...

* iceSkater.leftLeg turn forward 0.08 revolutions duration =1 second more...

iceSkater.leftLeg turn backward — 0.08 revolutions duration =0.5 seconds maore...

- iceSkater —  move forward — 1.5 meters duration =3 seconds more...
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LoFE A g ks 2 ;&fw&ﬁ’jﬁ$ﬁr%%
2. B2 rcwhile f6 ik i HET > YRENFE S




